[ Efficiency vs vertpos |
~ 0.05

9 .045F
N
>\0.04:—
° E
@.035_—
[ E
50.03t
0.025:
0.02E
0.015E]-
g
0.01H-
0.005E
o +0f
E L
@
1}. LU L HLE I S

0.95 . .
1072 10 1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TT_baseline_6iter
Efficienq —— poM_mkFit_TT_Retrainv2_WP1_siter

N 0.02—— : : : :
e s S S
e S S e

e A

O 1 AR

0.01F-+--vteeevoe :
0.008f -+
0.008f -5+
0.004F -+
0.002f-+----

EHHCIRRCY S 8T

III

Ratio

| I Baeen 0 G N SR O 1 1 0

30 -20 -10 O 10 20 30
TP vert z (cm)

0.95!

[ Efficiency vs. sim PV z |
~ 0.05 .
> N R T

00.045fF - preenrieesees A cTTTTT i e

€ : : : : : :
R A S

D.035f- -t bbb
& Eo : : : : :
o S S SR S SN S0 b I
3 Eoo : : : : :
L R R Rait AL I I IR
® Eo A S A
O R SU SIS RS S T
0.018F -~ fh 5
0.01F -+ fi -
0.005F e fod oo 2 L

e RUPLEPES FUOUE EUS RO AL OO

Ratio

P
HR

iy

o
©
TTT

|
N

5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


